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THET (KF)a—F 1THHET (KF) 4 40 41 42 43 44 45 46 47 48 49
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3530 &R THT 24 15 14 27 23 26 28 30 39 29
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3560 = T B HET 6 10 5 3 9 9 8 9 3 8
3570 = T FaMT 17 12 18 11 15 18 18 23 26 21
3580 LI HET 9 13 21 25 17 16 12 12 11 17
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110 T HT 29 33 36 32 32 35 38 28 29 41
120 #;TAHT 4 6 7 5 3 5 7 3 8 5
130 #&FHT 3 12 9 8 6 5 12 14 15 12
140 EAERT 0 0 0 0 0 0 0 0 0 0
150 & FFrHET 7 5 6 8 4 7 12 9 13 4
9999 K IFHXET 85 94 117 94 94 109 117 111 128 131
510 RETIHT B 12 5 13 13 17 13 13 21 13 16
520 HEEEHT 3 3 7 3 1 3 1 4 7 3
530 /\T&HET 8 6 5 9 6 7 6 10 6 8
540 15 = HT 8 10 6 7 11 10 10 6 14 12
550 FithET 12 13 12 11 10 11 11 9 6 13
560 =ZLMT 1 1 3 4 1 3 3 1 1 1
570 EEHT 4 0 3 3 3 3 2 3 1 3
580 ¥TEAHET 7 2 5 2 5 1 3 11 7 2
590 ¥ ;EHT 2 0 3 0 0 1 3 4 2 3
600 ZEi7HT 17 24 21 31 31 20 29 29 23 18
610 FHT 8 3 8 8 5 7 3 10 6 7
620 $TERT—T H 0 0 0 0 0 0 0 0 0 0
9999 J\ K& XEt 82 67 86 91 90 79 84 108 86 86
1010 3 A HT 5 6 4 8 6 4 2 8 8 9
1020 Lt FHT 8 9 11 10 7 18 5 10 13 13
1030 A1 FHT 9 10 8 4 11 8 9 7 8 12
1040 75/ HT 14 16 12 22 15 9 14 15 13 15
1050 & FHHET 15 12 22 19 18 12 19 10 18 19
1060 F _EHT 14 10 24 9 13 8 11 12 15 17
1070 A7 R HET 17 18 13 13 16 11 17 13 14 15
1080 & HHET 7 10 13 7 11 13 10 9 6 11
1090 BHiEHT 14 16 12 21 14 26 29 29 20 27
1100 £ BHEHT 19 9 15 13 17 21 16 11 22 21
1110 {2 1EHT 5 3 5 4 6 4 1 3 2 5
1120 $21E JTHT 4 2 4 1 3 2 2 0 5 2
1130 +4:HT 2 1 1 0 2 0 1 0 1 4
1140 FkJRHET 0 1 0 0 0 1 0 2 0 0
1150 F/RET—T B 3 5 4 8 5 2 6 5 9 12
1160 F/RETZT B 5 7 7 8 6 6 6 5 12 8
1170 ;& 7KHET 4 3 5 1 3 3 2 5 5 6
1180 EE&FLHET 8 8 4 5 7 2 7 6 11 8
1190 1 F AHT 3 4 6 6 2 7 8 7 5 9
1200 XFHEI—TH 2 3 5 2 2 3 7 6 3 5
1210 XFHEIZTH 6 4 8 4 2 3 7 6 10 7
1220 FrHT 0 3 2 8 2 5 3 4 3 1
1230 #xHET 7 5 11 1 1 8 5 2 7 8
1240 B EHT 3 4 4 2 3 1 0 4 4 2
1250 fEEHET 3 4 2 4 5 3 3 2 5 2



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H31.2.28 R 7E JATEET & (KF) Bl &R A O HEE (&)

THET (KF)a—F 1THHET (KF) 4 60 61 62 63 64 65 66 67 68 69
1260 ABFR 5@ 2 1 3 3 3 1 2 0 1 1
1270 EEHT 2 2 5 3 4 1 5 2 4 3
1280 FRAHET 2 3 2 5 7 4 6 10 4 2
1290 £RHT 4 7 4 6 6 1 7 3 2 5
1300 & ZEHRT 3 0 3 3 3 1 2 2 7 3
1310 RJLHT 5 2 1 5 4 0 1 3 1 0
9999 XH X ET 195 188 220 205 204 188 213 201 238 252
1510 B4 BT 22 31 12 19 23 22 16 20 29 24
1520 HEHITET 14 20 18 20 25 27 17 28 34 22
1530 HEHITHT 11 13 14 9 14 6 15 8 7 12
1540 K{ZFHT 15 23 13 17 26 16 25 19 19 21
9999 HEMMRE X ET 62 87 57 65 88 7 73 75 89 79
2010 £ ERAT 3 2 5 7 2 3 4 4 5 9
2020 % &7l 9 5 7 3 9 5 9 8 5 5
2030 ;AT 1 4 3 2 0 0 0 0 1 4
2040 ;HET—T B 5 4 5 6 3 3 3 9 8 7
2050 ;ET=T H 3 5 4 8 4 4 9 5 11 7
2060 ¥5HH 2 3 1 2 2 3 1 2 1 2
2070 +RET—TH 10 5 6 8 4 6 11 6 8 12
2080 +ETZTH 4 4 7 11 3 7 7 4 6 8
2090 THiAT 44 51 61 66 47 64 71 63 58 78
2100 dr 4L HT 9 4 5 10 8 9 10 5 3 11
2110 }EWETET—T B 8 5 4 7 7 7 12 9 11 5
2120 {ENNEBT =T B 13 11 7 13 10 11 8 9 11 9
9999 E B XET 111 103 115 143 99 122 145 124 128 157
2510 #AUEET 57 57 43 47 53 55 50 48 61 69
2520 sk EEHT 41 43 45 34 32 43 35 31 49 38
2530 & /NRHET 6 6 8 14 11 12 18 10 8 17
2540 Fi5HET 12 16 12 10 12 18 18 23 13 24
2550 ;HET 7 8 4 12 7 8 5 11 7 4
2560 = ST 35 19 33 28 33 27 25 33 34 42
2570 K EHT 2 5 0 1 4 1 4 4 3 7
9999 MMEXET 160 154 145 146 152 164 155 160 175 201
3010 K#THT 28 16 20 27 28 25 37 34 34 35
3020 L iIHT 25 22 18 26 19 31 31 30 26 36
3030 _EFHT 15 23 22 19 27 23 21 23 17 16
3040 B LHET 2 4 4 7 4 8 6 4 2 6
3050 B AR ET 43 51 66 52 67 49 53 52 54 82
3060 B THET 15 12 9 16 14 14 15 11 21 20
3070 HEAEAT 11 12 15 20 12 15 14 21 16 20
3080 H AT 8 7 5 6 13 6 3 11 17 12
3090 HHEHT 4 6 11 4 7 5 10 9 14 12
3100 H R FEHET 11 11 18 15 17 19 13 11 13 11
3110 EHAILHET 20 9 10 16 9 14 12 19 19 16
9999 /\FiE& X &t 182 173 198 208 217 209 215 225 233 266
3510 27 _EHT 5 3 4 6 3 6 7 9 9 8
3520 R chf 8 9 12 8 10 12 11 4 14 22
3530 &R THT 25 33 33 30 27 29 40 34 35 32
3540 &= B KHT 9 9 15 7 11 14 11 14 15 20
3550 AEFHT 31 22 22 36 21 36 26 22 22 34
3560 = T ERAT 6 9 11 16 17 11 16 8 11 12
3570 = T FaMT 27 25 25 17 27 32 28 27 32 43
3580 FLIFTHT 16 20 11 19 19 20 15 13 22 21

3590 JEEHT 0 0 0 0 0 0 0 1 1 0



9999 S HKXET
4010 41| BT
4020 {ESHT
4030 15HET

4040 = HEAHT
4050 7K EHT
4060 B2 HHET
4070 Jt/RHET
4080 =;T;HAMT
4090 FREHET
4100 FgFF0AT
4110 b FFn@T
9999 &I XET
4510 AREE—ZHT
4520 EREE — ZEHT
4530 EREE=FH/AT
4540 EREEIUZEHET
4550 EREE L FHT
4560 AR EENEEHET
4570 AR ZHHET
4580 EREE)\ZHET
4590 EREE N FEHT
4600 AREE+ZEHT

4610 EREE+—ZBHT
4620 EREE+ —ZEHT

9999 FRERXET
5010 FAF0HE HEET
5020 BB F0BAELET
5030 FRFNRI{ZHT
9999 MAFIRXET
5510 b R HET
5520 = HhHET
5530 7= M7
5540 T EEHT
5550 EEHT

9999 =R X 5t
6010 [E]MET/ME&
6020 [E /T4
6030 EETA I
6040 EiZEFHET
6050 JI|EHATE
6060 JI|EHATFE
9999 REERXET

6510 B & AHBHET

6520
6530
6540
6550
6560
6570
6580
6590
6600
6610

B &R A KEFHT
B &= A% EHHET
BH&EALLTHT
B AN 2 RET
BRAGILET
H = ALERIHT

B &= AEHET

H &= ARHET

H & A T
H&EA LFaHT
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H31.2.28 R 7E JATEET & (KF) Bl &R A O HEE (&)

THET (KF)a—F 1THHET (KF) 4 60 61 62 6 6 6 66 6 68 6
6620 HZE A FGHET 0 0 1 4
6630 HZEA T AT 3 1
6640 B & A EiHlT 1 3
6650 HZASHET 0 0
6660 H Z A RLHET 2 0
9999 HEAKKET 3 2 3 4 6 5 63 5 60 6
7010 Z R MO ET 4 10 1
7020 — R AHT 1 1 1 16 17
7030 — R FRHAMT 9 4
7040 — R T KEFHET 1 1 14 4 1
7050 — R ¥7 H I HET 2 8
9999 — R&XEt 3 2 2 3 3 3 45 3 43 4

8011 JRAHTFEERL
8012 YR AHTFEERA
8013 IRAHTFERIL
8021 HRAHTZEKLY
8022 R AHETIEKA
8023 R AHETEKIE
8031 IRAHTH ALY
8032 JABTHAA
8033 IRAHTH AL
8041 YR AHETHELIFL
8042 R ABTELIFEA
8043 R AHET LRI
8044 IR AHTELIRIZ
8045 IR ABTELIF T
8050 IR AHT IR A
8060 YR ABTFTHA
8070 JRAHBTER
8080 Ir AHT &k
8090 IR AHTHEE
8100 RAHETHI /IX
8110 3RZAHTJI| 5k
8120 YR AHTEE
8130 IR AHTH L
8140 IRABTEERT
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8150 IRAHTHFK L 2 2 3 8 8 6 9
9999 AKX 5T 56 66 54 65 70 60 76 78 103 79
9010 FTHTAKEH 25 24 15 21 16 19 16 25 25 24
9020 FTHTEFER 13 8 8 9 14 15 13 16 17 19
9030 FTHTH &£ H 26 33 34 29 43 37 31 34 35 39
9040 FTHTHEIH 41 34 40 40 40 36 43 43 31 43

9999 FTHXET 105 99 97 99 113 107 103 118 108 125
9110 SERT T HIE 8 11 16 16 10 14 16 23 19 19
9120 $EETH L 6 3 3 14 12 9 7 10 11 13
9130 $EHTH & 9 3 5 6 7 4 3 4 6 7
9140 $RAT T4t 11 24 12 19 11 6 15 28 15 21
9150 $EET L 55 5 13 11 15 16 17 21 14 16 29
9160 SEETERHT 18 15 21 17 22 19 20 35 16 24
9170 $RATNEA 24 22 24 23 27 23 20 32 23 26
9180 #RHTERE 25 20 23 22 23 14 33 15 16 24
9190 $ERTZ O 6 7 9 13 10 6 9 6 11 6
9200 5 HT FF 5 3 10 9 7 5 4 7 7 14 9

—
NS
—_
=

9210 $RET=EH 9 11 17 14 10 17 8 21



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H31.2.28 R 7E JATEET & (KF) Bl &R A O HEE (&)

TERET (KF)3—F fTIXHET (KF) 4 60 61 62 63 64 65 66 67 68 69
9220 SEMETHH 13 14 19 18 18 10 17 20 12 24
9230 ST B M 23 19 18 20 20 38 24 23 21 32
9240 $RHETIE R 7 12 6 8 10 13 8 6 8 11
9250 FEETALHith 14 18 22 15 21 20 21 17 13 11
9999 R X &t 181 205 209 224 229 211 231 257 209 277
9310 H[ZHET:R 7 8 8 10 5 1 7 7 6 10
9320 H[ZATIL 10 9 10 13 6 5 8 9 10 16
9330 H[SHET/INE 7 8 6 11 8 5 7 12 5 7
9340 H[5HETREY 9 8 18 13 21 20 9 14 21 12
9999 RFHXET 33 33 42 47 40 41 31 42 42 45
9410 RETT & 15 17 13 10 12 13 13 16 10 16
9420 RHETHHE 8 9 7 5 13 10 19 9 9 12
9430 RETEXR 2 4 7 4 6 7 7 2 7 7
9440 RETAEF 0 1 1 1 1 0 0 0 0 0
9450 RETHEIR 1 1 1 1 0 0 2 3 0 2
9460 RET{—_HE 0 2 1 3 2 1 1 2 0 1
9470 RETZER 1 0 0 0 3 0 1 0 0 0
9480 RETHER 2 0 1 0 2 3 2 2 2 2
9999 RIXXET 29 34 31 24 39 34 45 34 28 40

99999 H&EEt 1706 1711 1805 1891 1938 1949 2044 2051 2117 2342



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H31.2.28 R 7E JATEET & (KF) Bl &R A O HEE (&)

THET (KF)a—F 1THHET (KF) 4 70 71 72 73 74 75 76 77 78 79
10 HAT 6 6 2 2 0 1 7 2 1 1
20 & d-HT 4 2 2 6 3 3 7 2 6 0
30 @7 12 10 3 4 7 7 7 8 10 4
40 SRET 7 5 3 3 6 3 4 6 2 4
50 KET—T B 14 15 16 10 5 9 7 5 3 8
60 KET=TH 11 5 3 4 6 7 3 1 4 0
70 RET=TH 11 7 3 5 3 8 11 8 9 7
80 ¥ATIHET 2 1 1 3 0 0 2 0 1 3
90 FEHATIRAT 10 10 9 5 9 5 4 14 5 4
100 dt D HLET 4 5 3 3 5 2 5 1 4 2
110 T HT 34 34 31 20 15 17 20 22 21 17
120 #;TAHT 4 7 5 6 1 3 4 9 1 3
130 #&FHT 17 8 11 7 15 12 10 9 6 13
140 EAERT 0 0 0 0 0 0 0 0 0 0
150 & FFrHET 7 10 6 5 4 7 3 13 8 3
9999 K IFHXET 143 125 98 83 79 84 94 100 81 69
510 RETIHT B 7 20 13 9 12 7 16 14 10 9
520 HEEEHT 6 6 4 3 2 4 5 3 0 1
530 /\T&HET 11 6 8 4 4 8 3 8 4 2
540 15 = HT 16 17 10 10 4 11 18 9 6 7
550 FithET 12 12 9 5 8 6 13 8 8 6
560 =ZEMT 2 1 0 1 3 4 1 8 1 3
570 EEHT 0 3 1 2 1 3 2 2 0 0
580 HrhRAET 3 1 2 6 5 4 1 2 2 4
590 ¥ ;EHT 3 3 5 1 1 3 3 0 1 2
600 ZEi7HT 20 19 10 10 12 11 15 14 9 7
610 FHT 9 3 3 5 6 5 4 4 5 5
620 $TERT—T H 0 0 0 0 0 0 0 0 0 0
9999 J\ K& XEt 89 91 65 56 58 66 81 72 46 46
1010 X HT 10 6 9 3 1 4 2 9 8 3
1020 £ FHT 13 17 5 5 9 7 8 7 3 7
1030 & A HT 7 8 9 3 8 6 5 10 11 5
1040 75/ HT 14 14 10 6 9 15 11 2 5 8
1050 £ HAHET 26 18 15 4 14 12 10 13 12 10
1060 F _EHT 13 13 9 9 10 8 14 7 5 15
1070 A7 R HET 15 18 14 10 12 16 14 10 10 6
1080 & HHET 8 7 8 10 9 4 6 7 11 6
1090 BHiEHT 17 14 18 15 11 22 16 11 15 17
1100 £ BHEHT 13 22 13 9 17 17 11 11 12 12
1110 {2 1EHT 2 2 2 5 9 3 8 3 3 4
1120 $21E JTHT 3 3 1 3 3 3 0 5 2 0
1130 +4&HT 1 2 0 0 2 2 1 1 0 1
1140 FkJRHET 0 0 1 0 3 1 0 0 0 0
1150 F/RET—T B 8 5 5 5 3 5 6 10 4 2
1160 F/RETZT B 14 1 3 1 2 7 10 6 6 8
1170 ;& 7KHET 8 5 0 3 7 5 7 5 5 7
1180 EE&FLHET 7 3 8 13 9 7 5 7 12 8
1190 1 F AHT 9 9 3 2 7 6 2 4 5 1
1200 XFHEI—TH 2 6 2 1 4 2 3 6 4 4
1210 XFHEIZTH 11 5 3 0 5 4 1 3 4 3
1220 FrHT 7 8 4 3 3 3 4 2 3 2
1230 #xHET 5 4 5 5 2 4 8 2 2 0
1240 B EHT 7 5 2 2 6 4 5 2 2 1
1250 fEEHET 6 5 4 1 2 4 3 4 5 5



XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H31.2.28 R 7E JATEET & (KF) Bl &R A O HEE (&)

THET (KF)a—F 1THHET (KF) 4 70 71 72 73 74 75 76 77 78 79
1260 fEH & 3 0 1 2 1 3 0 3 1 0
1270 EEHT 4 5 2 5 2 1 1 3 1 0
1280 FRAHET 5 4 4 2 3 5 1 5 5 7
1290 £RHT 9 5 8 1 7 3 4 7 4 5
1300 & ZEHRT 6 6 3 3 5 3 2 4 7 3
1310 RJLHT 6 2 2 2 2 4 1 1 0 1
9999 XH X ET 259 232 173 133 187 190 169 170 167 151
1510 B4 BT 25 22 16 14 18 21 23 26 18 12
1520 HEHITET 32 27 23 17 27 22 24 19 18 14
1530 HEHITHT 10 17 12 7 12 9 7 12 14 7
1540 K{23FHT 21 24 12 10 16 9 11 15 11 10
9999 HEMMRE X ET 88 90 63 48 73 61 65 72 61 43
2010 £ ERAT 10 9 5 1 3 9 5 3 2 6
2020 % &7l 4 7 7 1 6 4 6 6 3 3
2030 ;AT 4 1 1 0 0 0 2 0 1 0
2040 :ET—TH 14 7 6 4 8 2 4 6 3 3
2050 ;ET=T H 7 4 10 6 8 6 6 4 5 4
2060 ¥5HH 4 3 2 0 1 2 2 2 2 0
2070 +RET—TH 8 5 10 2 6 6 7 11 6 2
2080 +ETZTH 9 8 9 6 5 9 3 4 5 4
2090 THiAT 63 77 43 37 45 62 46 35 39 52
2100 dr 4L HT 11 4 8 1 3 4 3 5 4 7
2110 }EWETET—T B 13 8 6 5 5 5 10 4 7 10
2120 HEMIETETZT B 9 9 12 4 6 8 7 8 4 3
9999 E B XET 156 142 119 67 96 117 101 88 81 94
2510 #AUEET 78 70 45 36 51 45 51 50 37 39
2520 sk EEHT 50 32 25 18 19 18 25 13 10 16
2530 = /NRHET 8 17 6 6 4 4 5 10 10 6
2540 Fi5HET 14 24 20 9 17 12 17 20 16 10
2550 ;HET 11 6 5 8 4 11 4 5 5 6
2560 = ST 38 36 31 21 21 20 25 28 23 19
2570 XK ST 8 4 5 2 2 1 2 4 2 3
9999 MMEXET 207 189 137 100 118 111 129 130 103 99
3010 K#THT 39 33 28 19 34 19 27 32 25 29
3020 L iIHT 32 36 33 12 23 12 12 25 12 20
3030 - EFHT 27 26 13 12 15 17 16 16 13 14
3040 B LHET 3 4 6 2 5 4 8 7 2 4
3050 A HRET 68 61 44 22 37 43 40 47 36 39
3060 B THET 14 19 12 10 22 21 18 16 21 22
3070 HEAEAT 11 17 9 10 19 11 9 13 15 17
3080 HhHT 17 9 6 5 5 9 10 8 8 5
3090 H A E AT 9 9 6 7 9 6 13 7 8 5
3100 H R FEHET 11 7 9 9 10 5 6 8 8 4
3110 EHeALHET 24 15 11 6 15 10 19 9 12 7
9999 /\FiE& X &t 255 236 177 114 194 157 178 188 160 166
3510 2R LHT 11 6 5 3 2 7 3 4 7 5
3520 & R T 20 16 12 11 12 10 12 9 4 8
3530 &R THT 40 19 21 20 21 22 19 22 16 7
3540 &= B KHT 19 12 17 9 3 11 14 13 12 8
3550 AEFHT 37 32 17 19 18 23 20 13 19 11
3560 = T ERAT 12 10 11 9 2 8 6 11 8 5
3570 = T FaMT 33 37 22 21 20 30 24 17 19 16
3580 FLIFTHT 27 20 16 8 16 11 12 11 12 14

3590 JEEHT 1 3 1 0 0 0 0 1 0 0



9999 S HKXET
4010 41| BT
4020 {ESHT
4030 15HET

4040 = HEAHT
4050 7K EHT
4060 B2 HHET
4070 Jt/RHET
4080 =;T;HAMT
4090 FREHET
4100 FgFF0AT
4110 b FFn@T
9999 &I XET
4510 AREE—ZHT
4520 EREE — ZEHT
4530 EREE=FH/AT
4540 EREEIUZEHET
4550 EREE L FHT
4560 AR EENEEHET
4570 AR ZHHET
4580 EREE)\ZHET
4590 EREE N FEHT
4600 AREE+ZEHT

4610 EREE+—ZBHT
4620 EREE+ —ZEHT

9999 FRERXET
5010 FAF0HE HEET
5020 BB F0BAELET
5030 FRFNRI{ZHT
9999 MAFIRXET
5510 b R HET
5520 = HhHET
5530 7= M7
5540 T EEHT
5550 EEHT

9999 =R X 5t
6010 [E]MET/ME&
6020 [E /T4
6030 EETA I
6040 EiZEFHET
6050 JI|EHATE
6060 JI|EHATFE
9999 REERXET

6510
6520
6530
6540
6550
6560
6570
6580
6590
6600
6610

B &= A BAET
B &R A KEFHT
B &= A% EHHET
BH&EALLTHT
B AN 2 RET
BRAGILET
H = ALERIHT
B &= AEHET

H &= ARHET
H & A T
H&EA LFaHT
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XH24. 7 9F RERBIREZD—ERIEIZKYSNEANEZEHT-AO
(H31.2.28 R 7E JATEET & (KF) Bl &R A O HEE (&)

AT (KF)a—F {TERET (KF) 4

73
100
11

w

- A

—“ NW—-=-0 == 0O P~,CTOWMNMNNO—=-=NPOW—-0—-PONNJWPPONIAE—="L="DN—-=-="0DCCCdN—= =10 WO —=—

74
94
16

wW —

N O1

N OTWWWOIWOooWOo = AW OMNOMNMOUOUMNMOOODOUOIPANI—= =000 0 W—-0OP,LP,OPALNMNWPLPO-ANIIJWIO =

—_

75
122

—_
o A~ O

N O

—_—

- N
— W WWooOoONW—_JONWPROMNMMNMNW—LLWOLOWOO - WUDMNONWLOMNMNMNMMO—WLWOMNMNMNOOAAAAIYJT W00~ WoOLOOS

76
110

—_ —_
=~ NN - DNJOJOoO WWw

N o
S

A OO WWOI = ONOO—-O0OW—-WW—--0ONOOOPPROJOJWPAP,W—=OOMNMDMNMN=—=OGINMNO Y

—_—

77
101
14

—_ —_ (4]
W =N JOOPBWOTITOO ©O©OWONOWNMNOON = O

1
00 —

OWwWw—- oo oo NDERAANODNDN

— O
B U o)

— Ol

o
O = NNAdON—-D—= =0 DA=0OJdJO =G0 A JO©WO

S —_ - - —_
= I NN DN WO

WOoON O

2

=

— = N = 0000 1 JOT N

— O
O P~ P WOWO NI 0OCWWDIADP,WwooOOND

N —_— o — N S
WWO - 0O P00 wowou o o

N
NWMNOOOSO =000 WOoOUu T o Wwh

—_



6620 HZE A FGHET
6630 HER AT FHHT
6640 B & A EiHlT
6650 B &= ASRHT
6660 H Z A RLHET
9999 HEAKKET
7010 Z R MO ET
7020 — ELAHT
7030 — R FRHNET
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